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(A )2.“NABC % 4% = £3578” sind+sinB+sinC >cos A+cos B+ cosC 7
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<fE47>

ek = &250 . 7r>A+B>%>A-)%>A>%-B>O .-,sinA>sin(%—B)=cosB e I

sin B>cosC » sinC>cosA » #7114 Sl o
PlE2s & = 43, sinA+sinB+sinC>cosA+cosB+cosC+ 2 =951 % % & Ao

( C)H3. 5388 f(x)=(x""" -366x"" +365)° GRE X —197{8 2 A5V 5 2
(A)2x-2 (B)3x-3 (C)4x—-4 (D)5x-5
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'.'f(x)z(x2019—366x2018+365)3

S f(1)=(1-366+365)=0 : f(-1)=(-1-366+365)" =-8

) =(x-D(x+Dg(x)+a(x+1)+b

S fM=2a+b=0 > f(-1)=b=-8 > a=4

e N=4(x+1)-8=4x—-4 > E C o
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(A)l (B)2 (C)3 (D)4 ®

<fE47>
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2> 328-1) +13(28—¢1)* =12 » £ (28—1)* [’ + (28 —1)*] =12
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15x+1-x"=1 & 15x+1-x"=27>x=0 > x,=15» ;=2 > x,=13 - E D=
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. E — 2ﬁ _2R R—&—z g
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( A). @A BC5=4&3)chp &> % tand ~ tanB ~ tanC 32 5 B ¥ P tan 4
BB Va2 2 (A4 (B)3 (02 (D)1
<fE{7>
tan B+ tan C

ctand=—tan(B+C)=— v Lok = » X = » y=tanC » B
( ) |_tan B -tanC *k=tanA4 > x=tanB > y=tan B

X+
k.x.Yezl, kz—l_xj;-)k+x+y=kxy B O14H24+3=1X2X3
JKkB 1237 0 iFE Ao

(A )7. Ariel, Bob, and Cathy are sharing 5 different books and 4 identical pens. If
each of them can get at least one book or one pen. How many ways are
there for them to share? (A)3168 (B)3200 (C)3216 (D)3321

<FF>3 S A7 R ihE 2 44c4p e e0E & X5 Ariel-Bob~Cathy = 4 » 3 Ariel

Bob -~ Cathy 23 > A ## - AF - & > Blx 5 BHL 27
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ERA(F 1A 2)H(F 244

=¥ xH, -C'x2’xH] +C; xI’xH,

=243 X 15-3X32X5+3=3168
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( C )8. There is a curve

9 4

—+—=1

crosses with x-axis at point A and B. Point A

1s on the coordinate system and locate on the left of point B. If we use the
point A as the rotation axis and rotate the curve through 90°
anticlockwise direction. what is the new equation of the curve?
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(D)<x3> NEL

<fZ47>
£y=0 0 @i gL G, 0) (3, 0)
é;X:O’ l—:.t”:\i :[%%‘(092)(290)

J# o BEO, 0)
YA BEG b0 3 PSR 00 R
o] o RTe 0 BR(-3, 3)
(x+3)°
4

L -3y
9

FETY AR ARG

)

B ARL(F L5 A
A RE=BG3T)~U46)-
<f# 5>

[ 2
-3d+7e+ f+58=0

4d +6e+ f+52=0
3d—e+ f+10=0
#d=0>e=-6 > f=—
X+ —6y-16=0
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t:10g33x’ ,1+£:_ﬂ ’ =] ~ =

EJJt 3 3 t=-1-~-3

1 1
log,3x=-1 > X=§ ; log,3x=-3 > X=a
RS
A7T9781 729
.Uk FFH y=k+k 2 B tey=—xB;T > Bk ende T 5 o
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x>k ks
okt x4k >0y 8
k<0 k<0 0 X
: >
D =1-4k*<0 2k +1)(2k —1) < 0
1 y=-x

ckhk<——2 ar R y=k’x+k
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5.3 05— 44 » ¥ Scosf-sinf=1> P|sinf= o
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."5cos@—sinf=1=>»5cosf=sinf+1

. (5c0s0)* =(sin@+1)* » 25c0s* @ =sin’ @+ 2sinf +1

. 25(1-sin” @) =sin® @+ 2sin@+1 » 26sin” O +2sin@—24=0

: 12
. (13sin@—-12)(sinf+1)=0 > smé?:ﬁgc_l(z £)
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2 2
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2 2
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8. Adam and Brown take turns rolling a fair dice, the person who first
get one dot win. The game starts from Adam. What is the probability of
Adam wins? :

<f#:¥F>Adam ~ Brown & A @& dhifin- oo ek o T4 2 A HERE ] E‘!’»—‘ﬁ E

2 > 3 Adam £ B 45 0 B Adam J&55 8 5 G o
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1. 4c%a ~ b ~ C‘F"S{fgﬁi’ P a*+3b7 +3c¢*+13<2ab+4b+12¢ > F
Je+a)—(a+bWac iniE?

<jafr>

Bi=(a*=2ab+b*)+2(b° =2b+1)+3(c’ —4c+4) <1

J(@=bY +2(b-1+3(c-2)=0 > .".a=b > b=1> c=2

Je+a)—(a+bWac =3-242 =2 -1
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2. 4cHl > X E L 1 eflO® M4EF 4k = £354BC > HE N ABC thd-w > &

T AL -8 > OH » £ BC &£ =2
<fE47>
flw O % 0 H 48 fedie & = & 2) ABC £hph 4%
@£ A0 2 [ N
Wy AH v £ 1 H 22 BCp2
@4 CN > o RtACAN v RIAAH,B #
ZANC = ZABC
. ZCAN = ZBAH, » AL & AABC #& T i 5
o Ll=/29 AP1OH > % AH = A0 =1
@ BOYF* M » @AM - CM ~ CH
7w AMCH % = {7 w 187
.CM =AH =A0=1 > BM =2

S BC=+22-1=43
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